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QUESTION 1

Evaluate the following indefinite integral: 

A. Option A 

B. Option B 

C. Option C 

D. Option D 

Correct Answer: A 

Evaluatingthese integral yields: 

 

QUESTION 2

Which line is perpendicular to the line y + 3x = 8? 

A. Option A 

B. Option B 

C. Option C 

D. Option D 

Correct Answer: B 

 

 

QUESTION 3
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Solve for x: x2 12 x=36 

A. 2 

B. 3 

C. 4 

D. 6 

Correct Answer: D 

The first thing to do in solving the equationx2 12x=36 forxis to rewrite the equation by adding 36 to both sides and then
to express the equation in terms of factors: x2 12x+ 36 = 0 (x6) · (x 6) = 0 Solving the equation forxyieldsx= 6. 

 

QUESTION 4

What is the probability that two cards drawn from a deck of cards are of a black suit (e.g., either clubs or spades) if the
first card drawn is replaced before the second card is drawn? 

A. 1352/2704 

B. 676/2704 

C. 6/2704 

D. 2/2704 

Correct Answer: B 

Because the two drawings are made from a complete deck of cards, the two events are independent of one another.
You first need to determine the probability of drawing a card of twosuits from a deck of cards. Out of a total of 52 cards,
there are 13 cards of any suit and 26 cards of a black suit. The probability of drawing a card of a black suit, P(A), is
26/52. Because the first card is replaced before the second drawing, the probability of drawing a card of the same suit,
P(B), is also 26/52. Thus, the probability of drawing two cards of the same suit is 

 

QUESTION 5

(

 5.4 × 107) ÷ (2.7 × 103) = 

A. 

Option A 

B. 
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Option B 

C. 

Option C 

D. 

Option D 

Correct Answer: B 

To divide the two numbers in scientific notation, you have: 
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